NOTES:
A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/POWER SUPPLY VOLTAGE.
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC
CONTROL SYSTEMS OR MODULES.

B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED

MAIN PRESSURE PORT @

M10x1.0 METRIC PORT

CONFORMS TO I1SO 6149 BREATHER
TIGHTENING TORQUE: 12+1 Nm

@ TEMPERATURE AND LUBE PRESSURE PORT '
M18x1.5 METRIC PORT O O O

POSITION, PUSH TO ENGAGE SECONDARY CLUTCH. ©'§
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED CONFORMS TO I1SO 6149
POSITION, PULL TO ENGAGE PRIMARY CLUTCH. (AFTER HEAT EXCHANGER)
TIGHTENING TORQUE 34 +3 Nm
C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH |
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL — D
CONTROL VALVE IS IN THE CENTERED POSITION AND
OPEN WHEN LEVER IS ACTUATED FROM CENTERED POSITION. = MAIN PRESSURE PORT
2. CURRENT =20 AMP MAX. — M27x2.0 METRIC PORT
3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING. QA L A O O =P CONFORMS TO ISO 6149
] CONNECT OIL PRESSURE
D. REFERENCE S930 FOR TWIN DISC REQUIREMENTS FOR PRESSURE @ N H/L TIGHTENING TORQUE 757 Nm
AND TEMPERATURE ALARM LEVELS. - 5 —
Ja Thi—— _ B | | \—‘ c
E. ALL POINTS AVAILABLE FOR TESTING CODED <:> = |
MAIN PRESSURE PORT \
M12x1.5 METRIC PORT - !
@ CONFORMS TO I1SO 6149 ©)
CONNECT OIL PRESSURE 7
GAUGE LINE HERE.
TIGHTENING TORQUE 16+1.5Nm , i J | 1l
| SECONDARY CLUTCH (FIRST)
H O | PRESSURE PORT
: ‘ T M12x1.5 METRIC PORT
_ Y g@ S @ ] CONFORMS TO 1SO 6149
1 | INPUT GROUP REFERENCE PLANE | TIGHTENING TORQUE 16+1.5 Nm
2 | PTO ADAPTER MOUNTING FACE
| __—ENGAGES SECONDARY CLUTCH
: ~ /,/ SEE NOTE "A"
h & —
3 | LEFT MOUNTING BRACKET FACE IS |
I = = SECONDARY CLUTCH (FIRST)
E | ® { W PRESSUREPORT
TEMPERATURE AND LUBE PRESSURE PORT— | C o M12x1.5 METRIC PORT
4 | RIGHT MOUNTING BRACKET FACE M14x15 METRIC PORT 3 O CONFORMS TO ISO 6149
CONFORMS TO ISO 6149 TIGHTENING TORQUE 16+1.5 Nm
(AFTER HEAT EXCHANGER) i \a\@
TIGHTENING TORQUE 20 +2 Nm = = O~
[
i@ =
] N =
TEMPERATURE AND LUBE PRESSURE PORT
M18x1.5 METRIC PORT 5
CONFORMS TO ISO 6149
(AFTER HEAT EXCHANGER) |
OIL STRAINER TIGHTENING TORQUE 34 +3 Nm \\
J ™~ ENGAGES PRIMARY CLUTCH
SEE NOTE "A"
PRIMARY CLUTCH (FIRST)
PRESSURE PORT
M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm
2X $16.7 THRU REMOVE FOR OIL FILL
S ECTI O N A_A PRIMARY CLUTCH (FIRST) FOR 5/8-11UNC STANDARDS
PRESSURE PORT EYEBOLTS WITH NUTS. THESE HOLES
M12x1.5 METRIC PORT MAY BE USED FOR LIFTING MARINE
CONFORMS TO I1SO 6149 TRANSMISSION ONLY.
TIGHTENING TORQUE 16+1.5 Nm
MAIN PRESSURE PORT
- 1 MR
OlL INLET FROM HEAT EXCHANGER GO TR TORGUE 3442 Nim
CONFORM TO I1SO 6149 FOR USE WITH OPTIONAL
REMOVE THREAD PROTECTOR PRIMARY CLUTCH (FIRST) - 539,02 HYDRAULIC PTO
TIGHTENING TORQUE: 88 +8 Nm O SN R S o149
M10x1.0 METRIC PORT
CONFORMS TO ISO 6149 SEE NOTE "C" — = 6.40
TIGHTENING TORQUE: 12+1 Nm INPUT SHAFTE
SECONDARY CLUTCH (FIRST) SEE NOTE "B" 2 1
PRESSURE PORT A I
M12x1.5 METRIC PORT
CONFORMS TO ISO 6149 ~—— 1148 —= I SAE #1
TIGHTENING TORQUE 16+1.5 Nm N PER SAE J617
— (&)
(&)
_ | | > 2 Rk . A
1 g SECONDARY CLUTCH (SECOND) § N — ]
= B PRESSURE PORT R.H. ENGINE ROTATION <) =
SN u
- i M12x1.5 METRIC PORT DRIVEN THROUGH R
: | CONFORMS TO ISO 6149 PRIMARY. INPUT SPEED . | e Bl g BB =
- 1 TIGHTENING TORQUE 16+1.5 Nm PICK-UP PORT =l =
5 Z. 5/8-18UNF THREAD a | ° o) ©
a ) ' - TARGET WHEEL : 54 TEETH a2 = =
i OIL OUTLET TO HEAT EXCHANGER A ) o i - @ =
v M33x2.0 METRIC PORT N ©)
CONFORM TO ISO 6149 = zq
= REMOVE THREAD PROTECTOR =
I BEFORE OPERATING UNIT. &
; TIGHTENING TORQUE: 88+8 Nm =
! y OIL LEVEL GAUGE A
i @) PRIMARY CLUTCH (SECOND)  — | g1 | - 4 N
..© PRESSURE PORT | ||
\ i OIL STRAINER = M12x1.5 METRIC PORT -
3/8-16 UNC T 7.62 CONFORMS TO ISO 6149 = = %
I 103 mm CLEARANCE REQUIRED TIGHTENING TORQUE 16+1.5 Nm E I ~ 9
)B TO REMOVE OIL STRAINER 5 K) ' \ . <9
- - ] 1 A A = - - - - - o 8
i : O
N N— \_ N O :Eﬂ | E_ W l@) IS Sy
E® = T\ > =
in e 2 T DG
‘ DI
T ’ A s iy ®
~ ~ [ T TEMPERATURE T 3 = l
% e M14x1.5 METRIC PORT N —
|| i CONFORMS TO ISO 6149 O N | H /C') ® ®
M (BEFORE HEAT EXCHANGER) 1 \ﬂﬂ
» ) = TIGHTENING TORQUE 20 +2 Nm | T—
i E— \ A / 9 g il |
R CENTER OF GRAVITY A S — f/
u | = = |
C@ @ | | | 1 V § S E _ A
TEMPERATURE PORT | g o =
A L 1/4-18 NPT PORT CONFORMS C| © 10 = 1
| TO SAE J476 T/ I~ S = ‘
\ (BEFORE HEAT EXCHANGER) , a , 3 = !
- H f TIGHTENING TORQUE 34 +4 Nm ' . LY ¢ = ‘ L
' H ' $22860B.C. ©o 4 Al ’
H::K é @ _ O A " §\C9 — | / / \ QCZB
B~ a — _ V4 h—{—
: B ey - S ; = d (M —AN
\ — 5‘*\ = —wA O QD) QD) C\
i Ny g h
g OUPUT SHAFT ¢ %, / t
~ %4 =
[ OUTPUT SPEED
PICK-UP BRACKET 6.23 —=] =
TARGET WHEEL : 64 TEETH R H. ENGINE ROTATION N |
3, DRIVEN THROUGH GREASE FITTING o
65 S SECONDARY. }—_§ >
N\ N /
|| —
8>é ézﬁuiéllfYTg&JC/élbL - 10160 —-= M20x2.5-6H TAPV 30.0
' 16 HOLES (8 EACH SIDE)
- 203.20 - USE ALL SIXTEEN (16) HOLES
- 244.8 - 4 FOR MOUNTING UNIT.
® — 304.80 - USE 8.8 PROPERTY CLASS QUALITY
- 339.85 — CAPSCREWS PER ISO 898-1 AND
' TORQUE TO S574 OR SERVICE
DRAIN PLUG - 383.03 — MANUAL VALUES.
M33x2.0 THREAD 6
METRIC PORT CONFORMS 20 = 396.03 -
TO ISO 6149 - 49153 -
TIGHTENING TORQUE 88+8 Nm
1% mm C(ISEARAN%E REQUIRED
TO REMOVE PLU
B |ECNWF-75133] 12/18/2015
—— 123.83 —— REV CHANGE NO. DATE
- 470.08 —— 304.97 - EQUIPMENT SHOWN:
- MGX-5202SC PER ASSEMBLY 1026316A FIRST USE ASSEMBLY: 1026316A | ciair. 669,16 MATERIAL: DATE:
- SAE #1 HOUSING FIRST USE MODEL: MGX-5202SC ‘ o @3 C‘ PROJECTION. 09/1-5/2010
- GP VALVE WITH EC050 CONTROL MODULE SIMILAR TO: W' o’ TR T RACINE. VI 55403 - USA
M ET R C VN IACHINED DIVENSIONS DRAVIN B |
X. +0.75 DJM
TG B S S ST SO A K ot ey RO wige—| 1026322A
his NoTicn WIN DISC, INCORPORATED  — —irs A S EOMETRIC TOLERANGING INSTALLATION APPROVED BY: |DWG SHEET: REV:
GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX-5202SC ALC size: - AQ 1 0OF 1 B

J I H G F E D C | B | A




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View6
	Section View A-A


